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Fig. 1

2. Determine the stretch in each of the two springs required to hold the 60 kg
crate in the equilibrium position shown in Fig. 2, Each spring has an

un-stretched length of 2'm and a stiffness of k=300 N/m. (25 43)
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3. Determine the moment of inertia for the shaded area about the y axis shown

in Fig. 3. (25 43)
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Fig. 3

4. The uniform link shown in Fig. 4 has a mass of 20 kg. The spring is
un-stretched when 6=0°, Determine the angle 8 for equilibrium and

investigate the stability at the equivalent position. (25 43)




